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402 RI2H X201 M 110,000 93,000 17,000
01 SI2ZEXIEANSEXR (MMM A) 110,000 93,000 17,000
0BT Mo B B4 AY
7,000,000 = 1ha 7,000
Ol Mg J|H &Y 23
7,000,000& = 7JH 24 49,000
ONACH A Sl B4 Al
7,000,000& = 200 A&~ 14,000
Ot AASs &5 23 MY
40,000,000& = 1ha 40,000
H&EdNsE 225 24 611,530 555,769 55,761
101 e1214| 21,930 20,709 1,221




AN JlsXE B

M MIIs B2 JEEsY 4
¢l =g MIIzE B (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 JIZHHZ2XREES 21,930 20,709 1,221
Oo¥zxt Z=gtXzel & Mt -22 NE22X
=0 20,250
-Jl 2 3 51,760& = 1€ = 200 10,352
RPN E =Ry 51,7603 = 1H » 9 466
A== ta=1 51,7603 = 18 = 40 2,071
-FeI2f=d
51,760& » 1% = 28 » 9& = 1.5 1,398
—ANZ2 2R+
51,760& » 1% = 28 » 9& » 1.5 1,398
—uwsE2xY| 5,000& = 18 = 200 1,000
- Z UG AH 5,000& * 198 = 200 1,000
—-4HEE= 17,685,000& * 14.5% 2,565
O&=Zx 228 N& ol 100,000& «* 83l 800
OZZX JIZHMIZ2 At 2HA R
3,000& = 100 300
O&ZX JIZM22X4 1= & ¢tdst 2
80,000& » 1H 80
OFZX JIZHZ2Z2 X XIZHl 500
201 LEr2 Y| 86,000 92,460 6,460
01 At 2teltl 56,000 47,460 8,540
OXNEELNE s WMHmel 30008 » 4008 1,200
OZ=x 222 M=% 1,500,000& * 23 3,000
OXNEELE W E2 =2 A
50,000& * 100K 500
OXNGELE DEZA =2 300,000& * 33 900
OFZX Algstn 2  1,500,000& = 1090 & 15,000
Ootlels 2= M& 2,000
OELAE ALY A= 228 &8 L AEHA H
B 2,000,000& 2,000
ottdithser 29 15,000
OXNgSesE d3 Ads /AF =< 1,400
O&E=Zx 28 M2 29 1,000,000& * 153 15,000
03 &Ar2 I 30,000 45,000 A 15,000
OJtOkXtZ st store 30,000,000& * 13l 30,000
202 4l 1,500 1,500 0
01 = LH o4 1l 1,500 1,500 0
OXNYGELE 4 HRFANHI 1,500
203 YR =&l 2,000 0 2,000
03 AIMF=XH R =AY 2,000 0 2,000
Os28 S¢2 7¢ 1,000,000& * 23 2,000
206 M= Hl 8,000 8,000 0
01 24l 8,000 8,000 0




A JleXEl
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Bu: MIIE 223D HBI=Y |4
o2l =g MIls B2 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OF=ZX AKX 2el M= 500,000& * 23 1,000
OZFXa s MOAsE XY 04
50,0002 * 60kg 3,000
O&ZI AE2ddm3a 24848 @ 2
500& * 8,000 4,000
301 L2 AF 29,100 19,100 10,000
09 HALAHIEA S 19,100 19,100 0
ONASAES J20S B4 243
7,000& = 30 = 103l 2,100
OXNgELsE 4 HdAX B0
1,000, OOOOJ * 33| 3,000
OJiOrXrZ st etore & 22X 8Al, 22 A
& BAaF 1,000,000& * 143l 14,000
11IIEtEA S 10,000 0 10,000
Ox=2stel s4 10,000
307 21201 A 94,000 74,000 20,000
02 It S AHE L 94,000 70,000 24,000
OFZA Mo 2 Fs245 N2
6,000& = 5,000set 30,000
OHlel|{ AHIAIE A 20,000
Oz Rs<t Mg =MX& 30,000
ORclAl S22 QEQK Al =23 e 10,000
2ol 2R S22 A XA 4,000
401 Al HI L 2 THYI 45,000 15,000 30,000
01 A& HI 45,000 15,000 30,000
O&EZX MM ES FH 15,000
AZA LS (A - EE2) HE J2XZM
o AA A 30,000
402 2I2H X201 M 324,000 322,000 2,000
01 2I2E 2 A B (KR ) 324,000 322,000 2,000
O&Zx B 23 500& = 50,000 25,000
O&EZX ANEHE 2F  1,500,0008 * 2000 £ 30,000
O&tZ D, Hiel: oIt =4 At 250,000
O&ld diels OlI0IXl AL 19,000
—MEE SIH FY ALY 5,000
—&Ed Hels TFEI B3 10,000
—Hicl® Ma0l8 AEIAH HMA 4,000
Al EBAIY (2H]) 854,900 1,064,700 209,800
= 412,450
Xl 15,000
Al 427,450
=2 Al MY (3u=5) 210,000 280,000 270,000
= 105,000
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Al 105,000
402 RI2EX20| A 210,000 280,000 A70,000
2 105,000
Al 105,000
02 QIZEHEAIL B (01X S) 210,000 280,000 A70,000
OADIEE AMERN 28l =HES AlEY 50,000
= 25,000
Al 25,000
OICTADIE 24 &2 A8 23 =3 23
& Al 100,000
= 50,000
Al 50,000
OA2d SZH AHEAN T 2 FSHE A 60,000
= 30,000
Al 30,000
s2 Ml B3 (&#201=) 200,000 198,000 2,000
2 100,000
Al 100,000
402 BI2EX=01 M 200,000 198,000 2,000
= 100,000
Al 100,000
02 QI EAILS EZ (OIS ) 200,000 198,000 2,000
OFTAUIS H ME Il E2AEY 200,000
= 100,000
Al 100,000
TEEHAR2Y N (ELZFY) 22,000 26,000 A 4,000
= 11,000
Al 11,000
101 1A 16,000 12,000 4,000
= 8,000
Al 8,000
04 JI2ZtHZ22HEE = 16,000 12,000 4,000
OZEEAE2Y N (ELZFY )2 16,000
= 8,000
Al 8,000
201 €829y 2,000 4,000 A 2,000
= 1,000
Al 1,000
01 At 22l 2,000 4,000 A 2,000
OZFEHM2Y XA (ELAHA 2,000
= 1,000
Al 1,000
207 A ROl 4,000 10,000 26,000
= 2,000
Al 2,000
03 A& & 224l 4,000 10,000 A 6,000
— 12 —




2N
X ZH -
L= B

el

Jl=X & ot
MIils 281

P
AIl=EZ A (=24])

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
OZg=zqad2d KN (ExaFY) 4,000
= 2,000
Al 2,000
etds ASANEERYE 200,000 0 200,000
= 100,000
Al 100,000
401 A& HIZ 201 8] 200,000 0 200,000
= 100,000
Al 100,000
01 A& HI 200,000 0 200,000
OO0XIgsS dilzgd SR of*A X
156,250& * 1,280m 200,000
= 100,000
Al 100,000
s&2 Yolls g X3 (=) 74,000 36,000 38,000
= 37,000
Al 37,000
206 M= Hl 74,000 36,000 38,000
= 37,000
Al 37,000
01 =8l 74,000 36,000 38,000
Oit+= =2oilE 2H 74,000
= 37,000
Al 37,000
s&2 dolls 222 29 & 4,500 4,500 0
= 2,250
Al 2,250
301 LerE A3 4,500 4,500 0
= 2,250
Al 2,250
1MIIEESS 4,500 4,500 0
OH dolls 222 24 1,800
= 900
Al 900
QRS dals 2Z2XE 23 2,700
= 1,350
Al 1,350
=2 ollE acsy 29 I 18,000 18,800 A 800
= 9,000
Al 9,000
101 @124l 12,000 12,000 0
= 6,000
Al 6,000
04 D12t Z22HEE = 12,000 12,000 0
Ol golls X U2Y 12,000
= 6,000
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DMl E=t
CADDIEESAE (=4])

= s
SN - BB B e HDS2

Al 6,000

201 fEt2E | 2,000 2,000 0
2 1,000
Al 1,000

01 At2 22l bl 2,000 2,000 0
Ol gais o 29 2,000
2 1,000
Al 1,000

207 Ao 4,000 4,800 A800
= 2,000
Al 2,000

03 Al8 & 22 H| 4,000 4,800 800
O dais detd 29 4,000
= 2,000
Al 2,000

d4s 54 NE 42,000 51,000 29,000
= 21,000
Al 21,000

201 YuHe | 12,000 13,000 A1,000
= 6,000
Al 6,000

01 At 22l bl 12,000 13,000 21,000
OZdas F 12,000
2 6,000
Al 6,000

206 M =8l 4,000 1,000 3,000
= 2,000
Al 2,000

01 M= dl 4,000 1,000 3,000
OZ2rs = 4,000
= 2,000
Al 2,000

301 Lot = 6,000 12,000 26,000
= 3,000
Al 3,000

09 HALEHI 2 & 6,000 12,000 26,000
OoZdas | 6,000
= 3,000
Al 3,000

307 glztol & 20,000 24,000 A 4,000
2 10,000
Al 10,000

02 It HAMAEE 20,000 24,000 24,000
Odaxs = 20,000
= 10,000
Al 10,000
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5 - 4
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das AtE2el & EIF X&A 9,000 8,000 1,000
2 4,500
Al 4,500

201 £B-2d| 7,000 6,400 600
= 3,500
Al 3,500

01 At 22/l 7,000 6,400 600
OZas At 2tel 7,000
= 3,500
Al 3,500

202 044l 2,000 1,600 400
= 1,000
Al 1,000

01 = LH o4 1l 2,000 1,600 400
OZas At 2el (Gl 2,000
2 1,000
Al 1,000

sgeliE 23 & 18,000 0 18,000
= 9,000
Al 9,000

201 Let24d] 15,000 0 15,000
= 7,500
Al 7,500

01 At 22l 15,000 0 15,000
Osgots 24 15,000
= 7,500
Al 7,500

301 et d = 3,000 0 3,000
= 1,500
Al 1,500

09 HALAHIEA S 3,000 0 3,000
Osgelts 249 3,000
= 1,500
Al 1,500

sPI=HMEZUE KA (AE) 10,400 10,400 0
2 5,200
Al 5,200

201 Let24d] 2,400 0 2,400
= 1,200
Al 1,200

01 At 2teltl 2,400 0 2,400
OJdl= & 38 E=sus 2,400
= 1,200
Al 1,200

301 et d = 8,000 10,400 A 2,400
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Jl=X & ot
Mils 25t &l&3s
AIl=EZ A (=24])

] = 2

0x

=
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 2,000 4,000 A 2,000
= 1,000
Al 1,000
09 HALAHIEA S 2,000 4,000 A 2,000
OF=E sg2 232y N 2,000
= 1,000
Al 1,000
sEXNE JIBtx=4 (&dl) 30,000 370,000 A 340,000
Xl 15,000
Al 15,000
405 RHoHE S HI 30,000 370,000 A 340,000
Xl 15,000
Al 15,000
01 AL EFFHSHI 30,000 370,000 A 340,000
OsEXNEAY =& Fdl 2 30,000
X 15,000
Al 15,000
DEE s¢E otE MA(ZH|) 736,000 246,400 489,600
< 246,350
Al 489,650
NS AZ Ity 60,000 70,000 210,000
< 20,000
Al 40,000
402 RI2HXt20l ™ 60,000 70,000 210,000
< 20,000
Al 40,000
02 2IZt 2 A EZ(OI XM THS) 60,000 70,000 210,000
oXggdsxs Itz (=X S5
Argd) 60,000
< 20,000
Al 40,000
SEXNCAY 2HSAXH(0IMS HIHH ) 400,000 0 400,000
< 100,000
Al 300,000
401 AIEHI L 201 400,000 0 400,000
< 100,000
Al 300,000
01 A& HI 395,000 0 395,000
OS2 DIMS HAME &S
395,000,000& * 1002 395,000
< 98,750
Al 296,250
02 Zeltl 5,000 0 5,000
OzlEd 02 tHedH Zeldl 5,000
< 1,250
Al 3,750
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Hu: NJIE 220 IBF=Y |4
tgel: DEE s¢E oA MA(ZH]) (&)
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N ZRFA d2sHHE 8,000 8,000 0
< 4,000
Al 4,000

202 O4dl 8,000 8,000 0
< 4,000
Al 4,000

04 =Xl =t 0 dl 8,000 8,000 0
OsElkr SR s K 8,000
< 4,000
Al 4,000

S das SSE =g SHAE 20,000 40,000 220,000
< 10,000
Al 10,000

307 glz2+0l & 20,000 40,000 A 20,000
< 10,000
Al 10,000

02 HAHFHAANGEEE 20,000 40,000 A20,000
O Zdas 38 desg SHAIE 20,000
< 10,000
Al 10,000

H ASS SAHX MY 30,000 30,000 0
< 15,000
Al 15,000

402 RI2HXt20l ™ 30,000 30,000 0
< 15,000
Al 15,000

02 2IZt 2 A EZ(OI XM THS) 30,000 30,000 0
Ol &Z5E SAEX Al 30,000
= 15,000
Al 15,000

ZM MAH B REEID AY 15,000 0 15,000
< 7,500
Al 7,500

402 RI2HX=01 M 15,000 0 15,000
< 7,500
Al 7,500

02 QI EASEZ (01X ) 15,000 0 15,000
OxFdMe MoH 22 =310 Al Y 15,000
= 7,500
Al 7,500

ASEH2 S Jlsns 5,000 5,000 0
= 1,250
Al 3,750

202 oddl 5,000 5,000 0
< 1,250
Al 3,750
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01 2L I 1,000 1,000 0
OMSYHE S Jzns 1,000
< 250
Al 750

04 = H st Hl 4,000 4,000 0
OAMSSRZ S Jsns 4,000
< 1,000
Al 3,000

SE0IM2 NI 22 AlY 6,000 6,000 0
< 3,000
Al 3,000

402 RI2H X201 M 6,000 6,000 0
= 3,000
Al 3,000

02 SIZEXIE AL E X (0| XM THL) 6,000 6,000 0
OSz=0|MEs XA 82 AlY 6,000
= 3,000
Al 3,000

ANEIA D20 st322 AlY 80,000 0 80,000
& 40,000
Al 40,000

402 SI2F X201 & 80,000 0 80,000
& 40,000
Al 40,000

02 X EAIS E X (0| &M THS) 80,000 0 80,000
OAMEA D208 stH2e AlY 80,000
== 40,000
Al 40,000

M 8t =8 AQIE 24 28AY 20,000 0 20,000
= 10,000
Al 10,000

402 SI2FXHE0| ™ 20,000 0 20,000
= 10,000
Al 10,000

02 QIZEXIE A E X (0| XM THLH) 20,000 0 20,000
O1NIt 8t=28 AQIE 24 &2 AY 20,000
& 10,000
Al 10,000

A X DEE MA AY 16,000 0 16,000
& 6,000
Al 10,000

402 It X0l M 16,000 0 16,000
= 6,000
Al 10,000

02 CIZEXIE AL EX (0| XM THL) 16,000 0 16,000




e

2N

o o o (e} (e} (e} o o o o o o o
o o o o
< < < <
|_J.._u oo} oo} [ee] [ce)
Ko
E
B
o o o o o o o o o o o (@] o
o o o o o o o o o
o o o (e} (e} (e} o o o
o «© o S S S o o «©
N N [aV}
H3r
Likd
RIS
o O O o O O o O O o o O O o O O o O O o o O O o O O o O O o o O O o O O o O O o o O O o O O
o O O o O O o O O | O o O O o O O o O O | O o O O o O O o O O | O o O O o O O o O O | O o O O o O O
S S38|8 5381535358 5581585885518 &8585 8551858585 5855158588 8595|85 885818885
al
<
=
H= H= H =< W= W= W= H = H =< W= W= W= H =< W= W=
ar 0
<
o .
. - OF
: 0 g -«
a < 30 . - 10 20
= = & = RN — 3 |3
1/ E:] ] o W = i ® 3 70
— - = ar - = i = 20
= |< Fill | R0 = Mo = = Ofr
. | < J_A.l_ — 0 Jx.l_ __|oo 0 Jx.l_ H Ho J.A.l_ Ko =
= |n i S = = S = Sl 2 Sl )
AN A K o 2 Ki i K{ D 2 Ki oD i
I o 20 iy 3 N oo e id a0 o of
- — Ldl [ o &l 3D KM pd ) . idl o=
o | = = S o= R = aad @ e < o] = < a1
|_|.E ] = (@] < & nE o < & o < on. (@] < N |_._o
0 ] W o ] T Ho il 1) i) i Moo 0
S > =4 =g Ol = =g 3 R =g IF =4 =4 5
I = R A=< R A A< - R AR = Al AL 2
R |O = al a O = al al O mq al a O . al a O gl
: s g 8 o g 8 g 8 o g 8 o
X w < w < | F = r
o+ = = 0 T R

_20_



AN JlsXE B
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Sel: DER M2 OHF MA(ZH) (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 8,000 0 8,000
< 3,000
Al 5,000
02 QI EASEZ (01X ) 8,000 0 8,000
OXADIE Bl sy 2EEHX = 8,000
< 3,000
Al 5,000
NSRS BSALMEHE 3y 4,000 4,000 0
< 1,600
Al 2,400
202 044l 4,000 4,000 0
< 1,600
Al 2,400
04 = M &t Bl 4,000 4,000 0
ONER0 H2ALHE 2 4,000
< 1,600
Al 2,400
Molsgel A8us 20,000 0 20,000
< 6,000
Al 14,000
201 Let24d] 20,000 0 20,000
< 6,000
Al 14,000
01 At 22l 20,000 0 20,000
OMoisgel ag82n= 20,000
< 6,000
Al 14,000
=y =4 2,520,419 2,533,840 A 13,421
= 841,346
J| 2,300
< 99,115
Al 1,577,658
RIFHE XN (ZHEE) 1,088,000 1,327,000 239,000
2 680,000
Al 408,000
307 glz2tol & 1,088,000 1,327,000 A 239,000
= 680,000
Al 408,000
02 It M AHE X 1,088,000 1,327,000 A 239,000
ORJIZHZ XA 1,088,000
= 680,000
Al 408,000
2IEHE NA(SHEX) 272,000 296,000 224,000
< 49,190
Al 222,810
307 21201 A 272,000 296,000 A 24,000
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M
2Hm
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Ol
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49,190
Al 222,810

qEx 272,000 296,000 A 24,000
2 NEAE 272,000

49,190
Al 222,810

H
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87,580
Al 37,534

H
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87,580
Al 37,534

H

S
e
~
o
0z
>
e
H
FA

125,114 164,718 229,604

125,114

87,580
37,534
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i
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=
o
é
oM
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= 4
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= N H
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12,766

5,745
13,405

= N H
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5,745
13,405

=z N W
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61,000

H
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H
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H
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J| 2,300

01 M= 4l 2,300 2,300 0
OUASEANIZIXNEM EL A 2,300

Il 2,300

dedsgy d2X B 2,400 2,400 0

480

N

- 22 -
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